Itis only possible if a free ball is awarded with the final red still to be potted. If that red were balanced on the edge of
a pocket with the Yellow immediately in front of and snookering it, the striker could nominate the Yellow and when
striking it with first contact, propel the red followed by the Yellow into the pocket. He would be awarded 1 point for
each ball. The Yellow would then be re-spotted and could be taken as the colour of choice for two more points if it
were to be successfully potted. It would again need to be re-spotted in readiness for the striker to pot it once more as
the first of the colours in the final sequence for two further points and a total of six and would have been potted three

times in succession.



